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Sentence Match Quiz for Category: superlative_adjectives 
Mark the sentence that matches each item below. 

1) Este postre es el más dulce de todos.
- A: This dessert is the sweetest of all.
- B: Antonio is the richest man in town.
- C: The thinnest sailor is José.
- D: The most luxurious hotels are those of Miami.

2) El marinero más delgado es José.
- A: The most luxurious hotels are those of Miami.
- B: Juan is the tallest.
- C: This dessert is the sweetest of all.
- D: The thinnest sailor is José.

3) Los hoteles más lujosos son los de Miami.
- A: The most luxurious hotels are those of Miami.
- B: Antonio is the richest man in town.
- C: This dessert is the sweetest of all.
- D: The least kind sailor is the captain.

4) Antonio es el más rico del pueblo.
- A: Antonio is the richest man in town.
- B: The most luxurious hotels are those of Miami.
- C: This dessert is the sweetest of all.
- D: The thinnest sailor is José.

5) Juan es el más alto.
- A: This one is the cheapest.
- B: Juan is the tallest.
- C: The most luxurious hotels are those of Miami.
- D: The bus that is more uncomfortable.

6) Esta comida es la más sabrosa.
- A: This dress is the prettiest dress of the store.
- B: This meal is the most flavorful.
- C: The thinnest sailor is José.
- D: I am the prettiest girl in the world.

7) Tu libro es el más entretenido de la biblioteca.
- A: Your book is the most entertaining of the library.
- B: This man is the poorest man in town.
- C: Antonio is the richest man in town.
- D: Juan is the tallest.

8) Guatemala produce el café más exquisito del mundo.
- A: This car is the fastest car in the store.
- B: My dad is the most active person in my family.
- C: Guatemala produces the most delicious coffee in the world.
- D: This dessert is the sweetest of all.

9) El volcán Tajumulco es el más alto de Guatemala.
- A: This dessert is the sweetest of all.
- B: The tallest volcano in Guatemala is Tajumulco.
- C: Samuel is the most intelligent.
- D: The thinnest sailor is José.
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(continued) Sentence Match Quiz for Category: superlative_adjectives 
Mark the sentence that matches each item below. 

10) Es el viaje más agradable.
- A: This meal is the most flavorful.
- B: It's the most pleasant trip.
- C: Guatemala produces the most delicious coffee in the world.
- D: The shark is the most ferocious animal in the sea.

11) Este traje es el más bonito de la tienda.
- A: Samuel is the most intelligent.
- B: This dress is the prettiest dress of the store.
- C: The thinnest sailor is José.
- D: This dessert is the sweetest of all.

12) Mi mamá es la más baja de mi casa.
- A: My mom is the shortest woman in my home.
- B: The least kind sailor is the captain.
- C: This dessert is the sweetest of all.
- D: This man is the poorest man in town.

13) Éste es el más barato.
- A: This one is the cheapest.
- B: It is the smallest mummy in Peru.
- C: This dessert is the sweetest of all.
- D: I am the prettiest girl in the world.

14) El autobús que es más incómodo.
- A: The bus that is more uncomfortable.
- B: This dessert is the sweetest of all.
- C: Pedro is the tallest boy in the class.
- D: The shark is the most ferocious animal in the sea.

15) Samuel es el más inteligente.
- A: This dessert is the sweetest of all.
- B: Samuel is the most intelligent.
- C: It's the most pleasant trip.
- D: The bus that is more uncomfortable.

16) Rodrigo es el estudiante menos inteligente de su clase.
- A: Rodrigo is the least intelligent student in his class.
- B: This dress is the prettiest dress of the store.
- C: The least kind sailor is the captain.
- D: Antonio is the richest man in town.

17) Es la momia más pequeña de Perú.
- A: It is the smallest mummy in Peru.
- B: This dessert is the sweetest of all.
- C: Rodrigo is the least intelligent student in his class.
- D: The thinnest sailor is José.

18) Este hombre es el más pobre del pueblo.
- A: The thinnest sailor is José.
- B: This man is the poorest man in town.
- C: This meal is the most flavorful.
- D: Guatemala produces the most delicious coffee in the world.
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(continued) Sentence Match Quiz for Category: superlative_adjectives 
Mark the sentence that matches each item below. 

19) El marinero menos amable es el capitán.
- A: This dessert is the sweetest of all.
- B: The least kind sailor is the captain.
- C: Juan is the tallest.
- D: Guatemala produces the most delicious coffee in the world.

20) Yo soy la más bonita del mundo.
- A: Guatemala produces the most delicious coffee in the world.
- B: I am the prettiest girl in the world.
- C: This dessert is the sweetest of all.
- D: It is the smallest mummy in Peru.

21) Ellos son los más feos de la escuela.
- A: They are the ugliest boys in the school.
- B: My mom is the shortest woman in my home.
- C: This dessert is the sweetest of all.
- D: This one is the cheapest.

22) Esta ciudad es la más bonita de todas.
- A: I am the prettiest girl in the world.
- B: This city is the most beautiful of all.
- C: This meal is the most flavorful.
- D: Pedro is the tallest boy in the class.

23) El tiburón es el animal más feroz del mar.
- A: The shark is the most ferocious animal in the sea.
- B: Pedro is the tallest boy in the class.
- C: This dessert is the sweetest of all.
- D: The most luxurious hotels are those of Miami.

24) Mi papá es el más activo de la familia.
- A: My dad is the most active person in my family.
- B: This dessert is the sweetest of all.
- C: This car is the fastest car in the store.
- D: The most luxurious hotels are those of Miami.

25) Este coche es el más rapido de toda la tienda.
- A: The thinnest sailor is José.
- B: This car is the fastest car in the store.
- C: This dessert is the sweetest of all.
- D: It is the smallest mummy in Peru.

26) Rodrigo es el estudiante más inteligente de su clase.
- A: The thinnest sailor is José.
- B: My mom is the shortest woman in my home.
- C: Guatemala produces the most delicious coffee in the world.
- D: Rodrigo is the most intelligent student in his class.

27) Pedro es el más alto de la clase.
- A: Guatemala produces the most delicious coffee in the world.
- B: Rodrigo is the least intelligent student in his class.
- C: Pedro is the tallest boy in the class.
- D: The tallest volcano in Guatemala is Tajumulco.
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(continued) Sentence Match Quiz for Category: superlative_adjectives 
Mark the sentence that matches each item below. 

28) Esta discoteca es la peor de la ciudad.
- A: This meal is the most flavorful.
- B: This club is the worst in the city.
- C: This dessert is the sweetest of all.
- D: The thinnest sailor is José.

29) Juan es el más alto.
- A: The most luxurious hotels are those of Miami.
- B: The thinnest sailor is José.
- C: This dessert is the sweetest of all.
- D: Juan is the tallest. (masculine)

30) Tus flores más bonitas son las rosas.
- A: Your most beautiful flowers are the roses.
- B: Antonio is the richest man in town.
- C: This dress is the prettiest dress of the store.
- D: This dessert is the sweetest of all.

31) Mi hermana es la más trabajadora de la familia.
- A: My sister is the hardest worker in the family.
- B: The thinnest sailor is José.
- C: I am the prettiest girl in the world.
- D: This dessert is the sweetest of all.

32) Esta clase es la peor de toda la escuela.
- A: This dessert is the sweetest of all.
- B: Guatemala produces the most delicious coffee in the world.
- C: This man is the poorest man in town.
- D: This is the worst class in the school.
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Answer Key for Worksheet d66a6

Sentence Match Quiz starting on page 1
1 = A , 2 = D , 3 = A , 4 = A , 5 = B , 6 = B , 7 = A , 8 = C , 9 = B , 10 = B , 11 = B , 12 = A , 13 = A , 14 = A , 15 = B , 16 = A ,
17 = A , 18 = B , 19 = B , 20 = B , 21 = A , 22 = B , 23 = A , 24 = A , 25 = B , 26 = D , 27 = C , 28 = B , 29 = D , 30 = A , 31 =
A , 32 = D


